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Atgts VB HE 7' = 7y
Base="T4H| A4 () o NEESE) o s &
(%) H| 2 (%) (B/A)
(A) (B)
m HH m (1,000) 100 (1,000) 100 1.00
a4
=Xt (513) 51 (508) 51 0.99
of Xt (487) 49 (492) 49 1.01
vil=]
18-29M| (115) 12 (144) 14 1.25
30-394 (133) 13 (138) 14 1.04
40-49M| (150) 15 (161) 16 1.07
50-59A] (210) 21 (197) 20 0.94
60-69A (214) 21 (192) 19 0.90
70M| O A (178) 18 (168) 17 0.94
X
pSESt (549) 55 (528) 53 0.96
s5£4 (250) 25 (232) 23 0.93
sg+d (201) 20 (240) 24 1.19
A2t SEHA E4
By ZAgtE At () Ve HME 7IE AMH=E (F)
= A LR} of X} A R} Of X}
24 1,000 513 487 1,000 508 492
18~29A| 115 64 51 144 79 65
30~39A 133 75 58 138 76 62
A 4049M| 150 79 71 161 84 77
5059 210 104 106 197 101 96
6069A| 214 108 106 192 97 95
70A| O & 178 83 95 168 71 97
27 549 274 275 528 266 262
1829A 62 31 31 88 47 41
30394 87 52 35 88 48 40
A 4049M| 91 45 46 95 49 46
5059 120 58 62 103 51 52
6069A| 106 53 53 87 43 44
70A Of 4 83 35 48 67 28 39
2 250 128 122 232 117 115
1829A 33 20 13 30 17 13
30394 24 15 9 25 14 11
s5£23 4049M| 29 17 12 33 17 16
5059 56 27 29 47 24 23
60—69A| 56 27 29 50 25 25
70A4 O & 52 22 30 47 20 27
27 201 111 90 240 125 115
1829A 20 13 7 26 15 11
30394 22 8 14 25 14 11
sHEH 40~49M| 30 17 13 33 18 15
5059 34 19 15 47 26 21
60—69A| 52 28 24 55 29 26
70M O & 43 26 17 54 23 31
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[E 10] 3ECXA EHR2HEIL
[29] MMENME s SEZXAZL LS St At St U ZRSta QT M2ZEsk L 7t?
EHRl s %
A== () oie a[lk=)
b = EEL T 2g/78
| JhEg | B moygp T2+ oo RO B23+4) T ° A
A}_EA|?§ xa olct olct
o m AN m (1,000) (1,000) 6 33 39 23 23 46 15 100
o=
=Ml (513) (508) 7 34 40 20 24 45 15 100
- oMl (487) (492) 5 33 38 25 22 48 14 100
=t
- O
18-29MI|  (115) (144) 4 40 43 24 4 28 29 100
30-39M||  (133) (138) 5 21 25 29 25 54 21 100
40-49M||  (150) (161) 5 25 30 25 32 57 13 100
50-59M  (210) (197) 6 23 29 23 40 63 8 100
60-69MI|  (214) (192) 6 40 47 24 21 45 8 100
. 70M O|A (178 (168) 10 51 61 13 13 26 14 100
HH
HAEH (549) (528) 6 34 40 22 25 47 13 100
S23 (250 (232) 5 30 35 24 24 48 17 100
SEHEA (201) (240) 8 34 42 24 18 42 16 100
o|gdet
FHl (269) (270) 2 20 21 30 37 68 1 100
=& (309) (312) 3 27 30 24 29 53 17 100
H:l (347) (343) 12 49 61 18 10 29 10 100
DE/ESH| (75 (75) 7 37 44 13 7 20 36 100
x|x|gg
=20 RIFE  (396) (395) 2 15 17 29 44 73 10 100
Zaolg|  (344) (331) 13 58 71 14 3 17 12 100
ZISEAMY (40) (40) 0 20 20 27 46 73 7 100
INEHAME  (64) 71) 6 40 46 21 13 34 20 100
IR (6) (6) 0 28 28 21 51 72 0 100
a9 CHE M (17) (18) 5 23 28 38 29 67 5 100
Se2/2E/28H]  (133) (139) 5 27 32 24 9 34 35 100
21t i EEo|sk
M3 EHEZ (902 (896) 6 33 39 23 24 47 13 100
A2 EREl (75 (80) 5 37 42 21 10 31 27 100
Er A™ 8H| (12 (14) 0 38 38 8 22 30 32 100
Eg ok elel a1 (11) 0 8 8 27 40 67 25 100
M =& XX =
O|XHH| (448) (446) 1 18 19 27 44 71 10 100
224 (392) (381) 13 54 67 16 4 20 13 100
oM (73) (83) 3 31 34 34 9 43 23 100
HE= (5) (6) 0 23 23 21 55 77 0 100
=t m ot (6) (6) 0 29 29 19 37 56 15 100
k= (0) (0) 0 0 0 0 0 0 0 0
Ae/RE/ESHl (76 (79) 3 26 29 18 10 29 42 100
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o m HH m (1,000) (1,000) 6 37 43 18 6 25 32 100
o=
=M (513) (508) 7 39 46 17 6 23 31 100
- oM (487) (492) 5 35 40 20 6 26 33 100
=t
- O
18-29M||  (115) (144) 4 37 41 12 7 19 39 100
30-39M||  (133) (138) 3 31 34 28 10 38 28 100
40-49M||  (150) (161) 8 35 43 24 6 30 27 100
50-59Ml|  (210) (197) 6 38 44 21 6 27 29 100
60-69AM||  (214) (192) 7 39 46 16 6 21 33 100
. 70M O|&H  (178) (168) 7 40 48 10 3 13 39 100
HH
HFEH| (549 (528) 7 38 44 19 7 26 30 100
S84 (250 (232) 3 36 39 17 7 24 38 100
SHE3 . (201 (240) 8 36 45 19 3 23 33 100
o|gdet
XE| (269) (270) 3 36 39 26 7 33 28 100
=Z| (309) (312) 6 37 42 21 7 28 30 100
Haxl (347) (343) 9 41 50 14 6 20 30 100
DE/ESEH] (75 (75) 5 26 30 4 0 4 66 100
x|x|gg
C=202FE  (396) (395) 2 35 38 25 7 31 31 100
Aol (344) (331) 1 43 55 12 5 17 28 100
ZIZHAY  (40) (40) 5 38 43 23 3 25 32 100
INHAE  (64) 71) 4 44 48 15 4 19 33 100
=R, (6) (6) 15 44 59 0 41 41 0 100
a9 CHE ™Y (a7 (18) 5 34 39 19 32 51 9 100
/B E/28E]  (133) (139) 4 23 28 16 5 21 51 100
21c i ExE oISk
M3 EHEZ (902 (896) 6 37 43 19 7 26 31 100
A2 ERZE| (75 (80) 3 42 45 13 2 15 39 100
Er 2™ 85 (12 (14) 0 35 35 8 11 19 45 100
EH oI Q8|  (11) (11) 8 0 8 19 0 19 73 100
M =8 XX =
O|ZHQH|  (448) (446) 3 35 38 24 7 31 31 100
2% (392) (381) 10 43 53 14 6 19 28 100
o|&M|  (73) (83) 3 38 40 19 1 20 40 100
= (5) (6) 16 23 39 0 61 61 0 100
T gmiely (6) (6) 13 19 32 22 15 37 31 100
o= (0) (0) 0 0 0 0 0 0 0 0
Sle/RE/R8E (76 (79) 7 24 31 9 4 12 57 100
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_{A}'QI‘E 7|-35* OIE_}. 150|E|- 150|E|- o||:|_ 3%“
ARlA(E) | o8 "
RPN ER )
e m MA@ (549) (528) 6 42 48 27 12 39 13 100
o=
M (274) (266) 6 44 50 28 10 38 12 100
- ofM| (275 (262) 5 41 46 26 14 40 14 100
=t
- O
18-29Ml|  (62) (88) 10 47 57 23 6 29 15 100
30-39M||  (87) (88) 0 29 29 40 17 57 14 100
40-49M||  (91) (95) 8 32 40 28 18 46 14 100
50-59AMl  (120) (103) 4 38 43 34 14 48 9 100
60-69AMl|  (106) (87) 8 54 61 18 10 28 10 100
70M OAH  (83) (67) 6 59 65 14 6 20 14 100
HH
HEH  (549) (528) 6 42 48 27 12 39 13 100
S84 (0) (0) 0 0 0 0 0 0 0 0
sEHEH (0) (0) 0 0 0 0 0 0 0 0
o|gdet
XE| (140) (137) 2 38 40 30 16 46 14 100
=& (176) (174) 5 37 42 32 15 47 1 100
B (193) (181) 8 52 60 22 8 31 9 100
DE/E8E] (40 (37) 9 39 47 14 5 19 34 100
x|x|gg
HE0{0IFE (223) (215) 2 32 34 35 18 53 12 100
=alold|l  (178) (157) 8 64 72 15 5 20 8 100
ZIEAY (23) (22) 7 38 45 32 23 55 0 100
NN (35) (39) 14 38 52 34 5 39 9 100
=R, (3) (3) 0 29 29 0 71 71 0 100
a9 CHE "Y| (19 (15) 12 0 12 44 38 82 6 100
Se/BE/R8E]  (73) (77) 6 38 44 23 4 26 30 100
21c i ExE oISk
M3 EEZS  (497) (475) 5 42 48 27 13 40 12 100
A2 ERE (A1) (43) 13 44 56 28 4 32 12 100
EE ZY & ) ) 0 30 30 30 19 49 20 100
Ex oz gle @ (6) 13 25 38 26 0 26 36 100
M =8 XX =
O|ZH| (258) (248) 2 33 35 35 20 54 11 100
A2 (202) (183) 8 60 68 17 5 21 11 100
O|FEAM| (42 (48) 9 34 43 33 4 37 20 100
HE= (3) 4) 37 0 37 0 63 63 0 100
LTmAely (3) (3) 0 31 31 0 35 35 35 100
o= (0) (0) 0 0 0 0 0 0 0 0
T aw—n=1 B 1)) (42) 11 34 45 25 5 30 25 100
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